

$$+ \mathbb{J} \triangleleft \mathbb{J} = \frac{\mathbb{J} \triangleleft \mathbb{J} \xleftarrow{\rho} \mathbb{J} \text{ connex}}{\rho \rho 1 = \rho \rho 1 \mathbb{R} 1 + \rho \mathbb{R} d 1}$$

$$\rho - \rho \in \mathbb{J} \triangleleft \mathbb{J}$$

$$\begin{aligned} \rho - \rho \rho 1 &= \rho \rho 1 - \rho \rho 1 = \overline{\rho \rho 1 \mathbb{R} 1 + \rho \mathbb{R} d 1} - \overline{\rho \rho 1 \mathbb{R} 1 + \rho \mathbb{R} d 1} \\ &= \rho \rho 1 \mathbb{R} 1 + \rho \mathbb{R} d 1 - \rho \rho 1 \mathbb{R} 1 - \rho \mathbb{R} d 1 = \rho \rho 1 - \rho \rho 1 = \overline{\rho \rho - \rho \rho 1} = \overline{\rho - \rho \rho 1} \end{aligned}$$